Subject: two-yaxes
Posted by allen bobby on Fri, 10 Jan 1997 08:00:00 GMT

View Forum Message <> Reply to Message

| would like to know what is the best way to have two y-axes on a plot,
where one is a logrithmic scale, and the other is not.
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Bobby J. Allen I1.
Computer Science Major
University of Maryland Baltimore County

410-455-1927
ballenl@gl.umbc.edu
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"When | was a young man, | observed that nine out of ten things | did
were
failures. | didn't want to be a failure, so | did ten times more work"

- George Bernard Shaw

" For the foolishness of God is wiser than man's wisdom, and the
weakness
of God is stronger than man's strength”

-1 Cor 1:25 (N.L.V)
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